reflectance [a.u.]

S

100

200

300

400

Reflectance

0.8

0.7 A

0.6

0.5 1

0.4

0.3 A

0.2

0.1

100

200

300

400

100

200

300

400

600 700 800 900
wavelength [nm]

600

100 200 300 400 500
Tissue Water Index — TWI

i

500

600

b Parameter Values C Absorbance
1009 ¢
== 2.0 1
801 ¢
5 £l
=0 S, 1.5
g o
= :
: == z
x 407 5 1.0
,.c wn
£ G
20
0.5
0 - C
T T T T T T T T T T T T
St0, NIR  TWI  OHI TLI THI 500 600 700 800 900 1000
wavelength [nm]
e Reflectance — 15t Derivative f Reflectance — 2" Derivative
0.10 1 0.04 4
0.08 - 0.03
"5 0.06 = |
El 3 002
L 0.04 0
2 2 0.01 1
- -
< <
2 002 =
) T 0.00
o a=}
0.00 -
-0.01
-0.02 -
~0.02
T T T T T T T T T T T T
500 600 700 800 900 1000 500 600 700 800 900 1000
wavelength [nm] wavelength [nm]
h NIR Perfusion Index [ Tissue Hemoglobin Index — THI
0 = 100 0
100 80 100
200 60 200
300 40 309
400 20 400
0
0 100 200 300 400 500 600 0 100 200 300 400 500 600
k Organ Hemoglobin Index — OHI I Tissue Lipid Index — TLI
0 — 100 0
2
100 4 80 100
200 - 60 200
300 4 40 309
400 1 200 400
0
0 100 200 300 400 500 600 0 100 200 300 400 500 600

100

80

60

40

20

100

80

60

40

20



